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1lint _ cdecl _ noreturn main{int argc, const char =*=xargu, const char =xenup)
1
3| dint v3; /7 ecxz@l
4 LPUOID 1pHMem; /ff [sp+8h] [Dbp-Ch]E1

HANDLE hHeap; // [sp+18h] [bp-4h]@E1

hHeap
1pHen

>

5

f HeapCreate(B8=:48888u, B8, 8);

3 Heapalloc{hHeap, 8u, MaxCount + 1});

| memcpy s{lpHem, MaxCount, &unk_ 4B89B10, MaxCount);
B if ( sub_u@182a() || IsDebuggerPresent(} }
1

2

3

4

{
__debugbreak{);
sub_4@1888{v3 + 4, {int)lpHem};
ExitProcess{BxFFFFFFFF);
I
5| MessageBoxA{@, (LPCSTR)1pHem + 1, "Flag', 2u);
fl HeapFree{hHeap, 8, 1pHem);
3| HeapDestroy{hHeap});
?| ExitProcess(8);
1]

2 X Bl U E#E A ZEMAE, BRI UEN, WREEAXY, 2EEmMBAEKNAERN, FEFILH, X

HBEfMHRKEER T, BICRERILMZVERK.

inc eax
push eax ; duBytes
push 8 ; duwFlags
push [ebp+hHeap] ; hHeap
call ds:HeapAlloc
mow [ebp+1lpHem], eaz
push MaxCount ; MaxCount
push offset unk_L4B9E18 ; Src
push MaxCount ; DstSize ~
push [ebp+1pHem] ; Dst ® )
call _memcpy_s '
add esp, 16h
call sub_hB182Aa
test eax, eax
jnz short loc_4810896
L J
call ds:IsDebuggerPresent
test eax, eax
jz short loc_4810B9
\ v i L2 ]
il s 55 FIEE
push 2 ; uType
push offset Caption ; "Flag”| [loc_4818B9: ; uType loc_hB189%6:
push [ebp+1pHen] ; 1pText| |push 2 inc ecx
push a ; hiind push offset Caption ; "Flag”| |inc ecx
call ds:MessageBoxA mov eax, [ebp+lphen] inc BCX
jmp short loc_4618CD inc eax inc ecx
push eax ; 1pText| |int 3 ; Trap to Debugger
push i} ; hund mou edx, [ebp+lpHem]
call ds :HessageBoxA call sub_4818848
jmp short loc_4810EF
vy \
M
loc_hL@18CcD: ; lphHenm loc_4@1BEF: ; UExitCode
push [ebp+1pHem] push BFFFFFFFFh
push a ; duwFlags call ds:ExitProcess
push [ebp+hHeap] ; hHeap _main endp
rall ds:HeranFrep




mov [ebp+var_8], eax }
push [ebp+hHeap] ; hHeap

34 AENRILKE, loc_401096/E i iS (1 ek %L, 1iloc_4010B9 itk & DI BR %, B4 AT ZEjmpRI s k%, FwS
FBkB B E O, flagh st @k 7,
4fiNod, hxEK.

a8481042 6A @8 InitialSize = 6x@
a8481 044 68 00000400 Flags = 486060
a8481049 FF15 1B8668488) call

88401 04F 8945 FC mov dword ptr ss:[ebp-8x4],eax

gaypi1a52 A1 349BL4AAD |mov eax, 3

8oy 1857 48 inc eax

88481058 e eax duwBytes = Bx0
aa4810659 6A 88 dwFlags = HEAP_ZERO
884810858 FF75 FC dword ptr ss:[ebp-8xi] hHeap = HULL
a8481065E FF15 B4684881 call

a8481864 8945 Fh mov dword ptr ss:[ebp-8xC],eax

a84B1867 FF35 349B4A8 5

a848186D 68 18984888 B453d212. 88489818

aayB1872 FF35 349B4A8 5

a8481878 FF75 F4 dword ptr ss:[ebp-8xC] kerneld2.7C839AD8
a848187B E8 880006808 |call 8453d212.88481168

aa4Be1888 83C4 18 add esp,

aa4B1883 E8 A2FFFFFF |call 8453d212.88481620

A04B1088 85CA test eax,eax

geye188a| .. -75 BA i short B453d212.88481896

a848188C FF15 14684881 call

aaup1a92 85CA test eax,eax

ae4Be1894| . | 74 23 ﬂ@ short B453d212.0604681689

80481896 1 inc ecx

8a481897 Y inc ecx

80481898 Y inc ecx

80481899 Y inc ecx

a8y 81890 [HH int3

88481898 8B5S Fu mov ed:,dword ptr ss:[ebp-8xC] kerneld2.7C839AD8
a848189E E8 SDFFFFFF |call 8453d212.6884816088

aeuBe18a2| .. EB 4A ﬂm@ short B453d212.0846818EF

a84818A% 6 @2 Style = HMB_ABORTRET
aa4B18a7 68 28784888 B453d212.88487820

884818AC FF75 F4 dword ptr ss:[ebp-8xC]

a84818aF 6 @8

a84818B1 FF15 Eh4G6B488

FF75 F& dword ptr ss:[ebp-8xC] kernel32.7C839AD8
E8 88000000 [call B453d212.06461168

83C4 18 add esp,

E® AZFFFFFF |call 8453d212.00481082A
8508 test eax,eax

75 B8R short 8453d212._ 0868481896
FF15 14604080 call

8508 test eax,eax

Th

L'y inc ecx

L'y inc ecx

L'y inc ecx

L'y inc ecx

8B5S F4 mov ed:,dword ptr ss:[ebp-8xC] kernel32 . 7CE30ADE
E8 SDFFFFFF |call 8453d2412.06461000

EB

6A 82 Style = MB_ABORTRET
68 26784000 8453d212 . 00407820 Flag

FF75 F&4 dword ptr ss:[ebp-8xC]

6A 8@

FF15 E460400(call

+UHORH 0640 00000000 OO7144B0
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